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of work. How efficient is the machine?

6. A 10,000-newton car is raised a distance of 5 meters by an effort force of 500 newtons. (Consider
this an ideal frictionl ss situation.)

a. What is the work cutput?
__b. What is the mechanical advantage?
c. What is the effort distance?

d. What is the work input?
e. What is the efficiency of the machine used in this ideal frictionless situation?

7. The raised end of a board is 1 meter above the ground. A 300-newton crate is pushed up the
board for a distance of 5 meters with an 80-newton force.

a. What is the work input? What is the work output?

b. What is this type of machine called? What is its efficiency? What is its mechanical advantage?

~

c. How much work is done to make up the difference between the total input and output?
What kind of work is this?
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